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SA SRS
HI: ZSASQ ASAIY(SNLLA/ SO - SE)
SR EEsY AE (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
307 eI2roIM 365,800 148,500 217,300
02 DIZFHAAIIE X 365,800 148,500 217,300
OS=2 QOIS DYM KA (AEE, LX)
(2X8 33%) 199,700, 00021% 14! 199,700
OZZHI=0| AX A2H EW X (BES 50%)
12,0002 1, 0000H*50% 6,000
OFEA RISK KNS (KNANLHE) (2XS 50%)
25,0002 120hax20 ' *50% 30,000
OAFMERHT MTH| e S X2(2X
70%) 1,000, 0002 * 13ha*70% 9,100
ORSASAIS MAEE ST KR (BXES 70%)
1,000, 0002 *30hax7C% 21,000
OZLE2EHIZ NA(EXS 50%)
200,000, 00024 % 1A1%50% 100,000
B R ESSESESpEE] 20,840,000 19,798,000 1,042,000
p] 20,840,000
301 YEIEE2 20,840,000 19,798,000 1,042,000
p] 20,840,000
14 J[EFE A2 20,840,000 19,798,000 1,042,000
OJ|=2EBAZXNFY IR
20,840,000,0002 %1 4] 20,840,000
p] 20,840,000
B EEERERINCERE 99,000 95,800 3,200
p] 99,000
101 Q12A4H] 24,312 24,312 0
p] 24,312
04 JHR22 s S 24,312 24 312 0
OZAXEH 2PEX ol 24,312
—DUXEH YREE ol
78,880 21+824 352 22,087
p] 22,087
—DUXNEN ALEZX AHPER
278, 12524+8% 2,225
p] 2,205
201 LB %] 53,548 49,768 3,780
p] 53,548
01 Al 22 53,548 49,768 3,780
OBAREH ABE AAIY AR4C
100,00024% 1312 13,100
p] 13,100
OBHAA U APRE S 72
15,948,000 %1 4! 15,948
p] 15,948
OIl=H| 24,500,000 %1 4! 24,500
p] 24,500
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SN dedsg
M ABASY ABAY(SYHYSL/ S - SE)
ool dEdsg A (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
= 41,800
201 28t=3d| 5,200 5,989 AT89
= 5,200
01 At2t2lH] 5,200 5,989 AT89
OHEAA HE U HAZE 72
4,000,000&*14] 4,000
= 4,000
OL=AY 282 =2 WA
60,000& 208 1,200
= 1,200
206 M= Hl 36,600 36,589 1
= 36,600
01 MZH 36,600 36,589 "
OFSARBR| TR =
36,600,000 *14] 36,600
= 36,600
()28 =sSNSXEREN 8,503 8,503 0
= 2,551
Al 5,952
301 Et2AS 8,503 8,503 0
< 2,551
Al 5,952
14 J|Et2d= 8,503 8,503 0
Ozl d = XERTXI=H
8,503,000 14! 8,503
< 2,551
Al 5,952
(Z)RPCESAIEEHSHXIR 355,000 206,500 148,500
= 106,500
Al 248,500
402 212tXH=01 S 355,000 206,500 148,500
= 106,500
Al 248,500
02 BIZAHE ARG 2 X (01X THS) 355,000 206,500 148,500
ORPCAIE ZHIXIAALS
710,000, 0002 * 141%50% 355,000
& 106,500
Al 248,500
A2 SNl DioisIt =741 K& 100,000 100,000 0
302 OIF=H Mol 243 100,000 100,000 0
02 RIZIITHHI SR8 S22 43 100,000 100,000
OA7E2 sYMall Tloisot 74l XIJ
100,000,000 * 14| 100,000
(Z)oHsty ol otaer X 54,250 0 54,250




SN dedsg
M ABASY ABAY(SYHYSL/ S - SE)
ool dEdsg A (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
& 11,000
Al 11,000
= 32,250
301 B2 HS 54,250 0 54,250
= 11,000
Al 11,000
= 32,250
14 J|Et2d= 54,250 0 54,250
OtHet Mo ot X
54,250,000 *14| 54,250
= 11,000
Al 11,000
= 32,250
MY DB R Y (Sl s - S&) 5,310,305 7,131,355 1,821,050
= 735,736
Jl 422,000
& 532,046
Al 3,421,283
= 199,240
Algfdat X2 5,310,305 7,131,355 A1,821,080
= 735,736
Jl 422,000
& 532,046
Al 3,421,283
= 199,240
(VELMEH XA 1,006,545 1,617,267 A610,722
= 732,236
= 54,864
Al 219,445
402 212tXH=01H 1,006,545 1,617,267 A610,722
= 732,236
S 54,864
Al 219,445
02 QI XH2 AL E (01 A THE) 1,006,545 1,617,267 A610,722
OE NS KA
1,006,545,000& * 14| 1,006,545
= 732,236
S 54,864
Al 219,445
(Z)RIIEHIZ XIJ(HEA) 2,661,912 2,775,000 113,088
= 319,429
Al 2,342,483
402 212tXH=01 S 2,661,912 2,775,000 113,088
& 319,429




2AM:
T ZH -
o /e

cH):

Jz oz
0 oY rtor
0Z 0z 0¥
O

-

HEE

2A - HH - H(SH) - MRAIY - BES Of] &K 01l Aol Hws2
Al 2,342,483
02 RIZIXHEZARIEE (01X THR) 2,661,912 2,775,000 113,088
ORIIEHI2 KA
1,50024*1,774,608 % 2,661,912
& 319,429
Al 2,342,483
(D HEILSFEIXA 44,000 34,500 9,500
[ 13,200
Al 30,800
402 QI2EXH=0|H 44,000 34,500 9,500
[ 13,200
Al 30,800
02 CIZEXI=2 AL B (0| M THS) 44,000 34,500 9,500
OH EI& &x(AA2)
42,000, 0002 * 14 %50% 21,000
& 6,300
Al 14,700
Ol SR NWES(URL, A72)
46,000, 0003 * 141 x50% 23,000
[ 6,900
Al 16,100
(Z)=LOHEEHIXIA 70,000 65,450 4,550
& 14,028
Al 32,732
= 23,240
206 =4I 70,000 65,450 4,550
& 14,028
Al 32,732
= 23,240
01 MHZ4] 70,000 65,450 4,550
Og =ty K& 70,000,000 %14l 70,000
[ 14,028
Al 32,732
= 23,240
() &2 RES 29,400 31,500 A2,100
[ 8,820
Al 20,580
402 QI2EXH=0|H 29,400 31,500 A2,100
& 8,820
Al 20,580
02 QIZENEAMLE R (01X M) 29,400 31,500 22,100
OEZE=22 S UK
30,000, 00024 %17 2-%70% 21,000
& 6,300




SN dedsgn
HE: AZMA DB (SHHYSM/ 5D - SE)
Chel: Algrdial K& (Ctol: ®M2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 14,700
OES=E LI
1,000,000 * 12ha*70% 8,400
& 2,520
Al 5,880
(£)IISS 2 AT KA 27,000 27,000 0
& 8,100
Al 18,900
301 LBtE2NS 27,000 27,000 0
= 8,100
Al 18,900
14 JIEt2d= 27,000 27,000 0
OJIBE & TR EA
540,0002/*50ha 27,000
= 8,100
Al 18,900
(Z)HATHEY A2SXIR A 25,500 19,000 6,500
& 7,650
Al 17,850
402 BIZtAH=01 M 25,500 19,000 6,500
= 7,650
Al 17,850
02 2IRIXFEAIE E (01X THR) 25,500 19,000 6,500
OH T = S &I X1
51,000,000 *14{x50% 25,500
= 7,650
Al 17,850
(E)adgsSHIH 15,120 15,120 0
& 4,536
Al 10,584
201 Let23| 15,120 15,120 0
= 4,536
Al 10,584
01 At22tel] 15,120 15,120 0
OaNASEER 25X
72,000&*210H 15,120
= 4,536
Al 10,584
(E)=Et=SAIY 30,000 70,000 240,000
& 9,000
Al 21,000
301 LetE2d= 30,000 70,000 240,000
& 9,000
Al 21,000




SN dedsgn
HE: AZRA J|BIES (SN Y - SE)
Rl AMEMAE XIE (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
14 J|Et2 = 30,000 70,000 240,000
O=EtA SRR AL
1,000, 000&*30ha 30,000
& 9,000
Al 21,000
(Z)EE & THHEXIZY 59,000 47,200 11,800
= 17,700
Al 41,300
402 212tXH=01 S 59,000 47,200 11,800
< 17,700
Al 41,300
02 QIZEXH=AIL 22 (01 THE) 59,000 47,200 11,800
OYSA TR TR
1,180,000&*50ha 59,000
< 17,700
Al 41,300
(D)exs 2O MTAr 85,953 80,500 5,453
= 25,786
Al 60, 167
402 212tXH=01 S 85,953 80,500 5,453
< 25,786
Al 60, 167
02 QIZEXH=AL 22 (01 THE) 85,953 80,500 5,453
Ogxe ZF0a) Lol LAl X2
122,790,000 * 141%70% 85,953
< 25,786
Al 60, 167
(E)H=2 s X2 204,110 191,250 12,860
= 8,433
Al 19,677
= 176,000
402 BItAH=01 M 204,110 191,250 12,860
= 8,433
Al 19,677
= 176,000
02 QIZEXH=AL 22 (01 THE) 204,110 191,250 12,860
Ol SR4 4E(UE, 48)
120,000,000 » 141%50% 60,000
= 3,000
Al 7,000
= 50,000
Ol =24 HMelH
288,000,000 * 141%50% 144,000
= 5,400




A FSF=D
HE: AZPMAL J[BIEN (SEHLS A/ =Y - 55)
Rl AMEMAE XIE (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 12,600
== 126,000
SQIE(BAESH LHUE S)
220,0002* 141 x50% 110
= 33
Al 77
EBEEENIE N EEE R 80,000 100,000 20,000
= 24,000
Al 56,000
402 BIZFXHE0IH™ 80,000 100,000 20,000
[ 24,000
Al 56,000
02 BIIXFZ AL B (O HTHE) 80,000 100,000 A20,000
OUF2 BITHEHSIE I sII1H X
50,000, 0002 *4CH*40% 80,000
= 24,000
Al 56,000
AlgtAiA 2|2 22,065 44,403 A22,338
101 QI2AH| 2,525 2,463 62
04 JHH2EXSES 2,525 2,463 62
OSLEiHE 22UH 22Y
78,8802 x4 x82U*13] 2,525
201 L2y 6,000 6,000 0
01 Al22t2H] 6,000 6,000
OsAMH &22 M= 2,5002+2002 500
ORIIZHIZ SEAAMI
5,500, 00024% 14! 5,500
206 M2t 4,000 11,000 A7,000
01 W2 4,000 11,000 A7,000
=HYolls oM 80,0002 *50ha 4,000
301 YBtEAZ 9,540 24,940 A15,400
11 A X2 9,540 24,940 A15,400
OBNMYs MZD|zDs L HES| 2t oYl
90,0002 %3613 3,240
OFESIH MXD|2NS L HES| &It o]
90,0004 x40 *13] 3,600
OsAIMAIR S It 04H|
90,00024*30H*13] 2,700
AIZEAH AL S ALY 432,700 649,200 A216,500
307 QI2t0| & 390,000 0 390,000
02 QI2FAAIALIE X 390,000 0 390,000
OH MHisIt AE XR(EXE HoH)
330,000,0002 14! 330,000
ODF0F EXHRER, E2) FUXNH(ZXE 50%)
2,400,0002! ¥50ha*50% 60,000




SN dedsgn
HE: AZMA DB (SHHYSM/ 5D - SE)
Chel: Algrdial K& (Ctol: ®M2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
402 BItAH=01 M 42,700 449,200 A\406,500
01 QI X2 AL B (KFHITH) 42,700 449,200 A\406,500
OfMAs SITIH(SZAHDI, AHMAZI],
=X, DEHI| S) N (BT 508)
85,400,000 »141%50% 42,700
SYE RUEBI| EE2 XA 40,000 50,000 210,000
402 212tXH=01 S 40,000 50,000 10,000
01 BIZAHE A B (KFHITHA) 40,000 50,000 10,000
O=9i8 LS| CENUANL (BT 508)
20,000, 0002 *4CH*50% 40,000
(RME: H=sS2elus 22X 5,000 5,000 0
= 3,500
= 1,500
201 Let23| 2,000 0 2,000
= 1,400
= 600
01 Al 22| 2,000 0 2,000
ONEAH=S22 NRE2XY
2,000,000& 14! 2,000
= 1,400
S 600
301 Et2dS 3,000 5,000 A2,000
= 2,100
= 900
11 AAEIXIES 3,000 5,000 22,000
OXNEAH==2te] AIEEA Hst
3,000,000 14! 3,000
= 2,100
S 900
(&) =CtaS4HSEHIXIA 50,000 0 50,000
= 15,000
Al 35,000
402 212tXH=01 S 50,000 0 50,000
& 15,000
Al 35,000
02 QI XH2 AL E (01 A THE) 50,000 0 50,000
O=EA =453 X1=
50,000, 000 *2IH A+50% 50,000
& 15,000
Al 35,000
() HSHASXFZXEH 422,000 0 422,000
Jl 422,000
301 LBtE2NS 422,000 0 422,000
7l 422,000




2A: FEHFsdn
HE: ASFHAL J|BIEN (SN LS/ 5D - 5F)
CHel: A T3 (CHo|: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
14 B2 A S 422,000 0 422,000
ONSXSHZ ISR
422,000,000 %14l 422,000
7l 422,000
202 JSHL (SN UL/ =Y - SZ) 7,200,944 5,862,222 1,338,722
7l 2,434,000
[ 875,866
Al 3,508,053
= 383,025
W=AHM2A A5 6,934,694 5,610,622 1,324,072
7l 2,434,000
[ 875,866
Al 3,241,803
= 383,025
YR A3 4,920 4,920
201 LB 3,520 3,520 0
01 AF222IHI 3,520 3,520
OFTA DEZAIS BHSIAI NSAF 2 8400 HIE 5
1,000,0002* 14! 1,000
OYFAIL REXC S S5 A2
70,0002 %1233 2,520
301 Y2 XS 1,400 1,400
11 BAFAHIXIRZ2 1,400 1,400
OYFALY SAXIRE 5o AT SA! X
8,0004x35H+53] 1,400
U REAF SXH K 1,188,778 1,212,566 N23,788
101 Q124 7,888 7,696 192
M IIHR22IEES 7,888 7,696 192
ORAMET| S HYSAHH £ o8
78,8802 102 x5 +235] 7,833
206 THEH] 7,140 6,720 420
01 2HI 7,140 6,720 420
OSUHHNE (R0 S) MM 2L
170,0002 * 14ha*33 7,140
307 2I2H0| & 1,168,500 1,104,000 64,500
02 QIFAAAIIE R 1,168,500 1,104,000 64,500
OYFAIY ZEZET XHAIL(EXS 50%) 804,000
—ZEZEY XY
1,50024%732, 0000H*50% 549,000
—Hle SSTAY X
1,50024%340, 0000H*50% 255,000
OYFAIY 243 XR(BXE 50%)
2,0002 %150, 0004t KF*50% 150,000
OY=AD SESH| X (BES 50%)
2,0002%150, 0004t K*50% 150,000




SA: FEYSAD
H: QA0EE JIEHL(SYHL /5 - 5F)
ol s BYH A CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OIS IR KA (BES 50%)
10,000, 0002 *3ha*50% 15,000
OB QIBA2E T XN (BIIZ, +8)(2Xg
50%) 500, 0002 *120ha*50% 30,000
ONBBAL AHIMA K (SEE 50%)
1,300,00024%305 I H50% 19,500
402 QIIXH=0[A 5,250 94,150 88,900
01 BIRIRHEAIL B (RHHITHE) 5,250 94,150 88,900
OZ2I)| L& K| N(SXS 50%)
1,050, 00024 % 10CH*50% 5,250
(Z)BA==MAA LSS A 1,275,000 1,275,000 0
bJ 510,000
< 229,500
Al 535,500
402 QIIXH=0[A 1,275,000 1,275,000 0
bJ 510,000
< 229,500
Al 535,500
02 BIRIRHEAIL B (01 M HE) 1,275,000 1,275,000 0
OB+DED AL
2,550,000, 0002 * 1A1%50% 1,275,000
pJ 510,000
< 229,500
Al 535,500
(E)IHEESAX S 210,000 294,000 84,000
< 63,000
Al 147,000
402 QI2EXHE0( A 210,000 294,000 84,000
= 63,000
Al 147,000
02 BIRIRHZ A B (01 M HR) 210,000 294,000 84,000
OB =08 HeHED X2
420,000, 00021 141%50% 210,000
< 63,000
Al 147,000
S EST PN 351,000 294,000 57,000
< 43,950
Al 102,550
= 204,500
400 QIZEXHE0IR 351,000 294,000 57,000
< 43,950
Al 102,550
= 204,500
02 BIRFRHE AR 2 (01 M THE!) 351,000 294,000 57,000




2A: AESA=SYD
HE: QTS JENL (SHLSA/ =Y - 5&)
SR =B HE A5 (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
OEaH=z)] 2 SEIANARI=SHIZED])
X& 9,000, 000 *36CH*50% 162,000
[ 20,250
Al 47,250
= 94,500
OF#E S222|(23SSI|) X
6,000, 0002 *3CH*50% 9,000
= 2,700
Al 6.300
ODAFSYHIN(SESSI) L MELOIHI| X
20,000, 00021*36CH*25% 180,000
[ 21,000
Al 49,000
= 110,000
(S )FTACHS CHRI DI Z 5L X2 AFY 40,000 18,000 22,000
= 12,000
Al 28,000
R =] 40,000 18,000 22,000
[ 12,000
Al 28,000
02 DIRFKHZ AL BE(OIR KN ) 40,000 18,000 22,000
OUAD+ZE2SEX
80,000, 0002 * 1AI%50% 40,000
= 12,000
Al 28,000
(Z) DM AEHE FD 308,000 282,880 25,120
= 38,842
Al 90,633
= 178,525
EN=E] 308,000 282,880 25,120
= 38,842
Al 90,633
= 178,525
02 QIRFXHZAI B E (ORI ) 308,000 282,880 25,120
OFSA ADESIH X2
280, 00024 *70na*50% 9,800
= 2,940
Al 6.860
OB ZIIKEH X
280,000, 0002+ 14! 280,000
[ 30,442
Al 71,083
= 178,525
Ona EHRDEH X 18,200




SH: AsAse
B2 KNS JISHL (SN TN/ Y - 55)
ol s BYH A (Crel: & 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—HIIEESED]
3,300,000 *BLH*50% 13,200
& 3,960
Al 9,240
—AEERR| 2,500, 00021 *4CH*50% 5,000
= 1,500
Al 3,500
(£)Z= DIcHE AR ZEAY 288,000 0 288,000
& 86,400
Al 201,600
402 BItAH=01 M 288,000 0 288,000
& 86,400
Al 201,600
02 QIZEXH=AIS 22 (01 - THE) 288,000 0 288,000
OZ= DIcHE At A
120,000, 0002 *4ha*60% 288,000
= 86,400
Al 201,600
(Z2)MERIAD AIEAHe| 0K 500,000 434,400 65,600
& 150,000
Al 350,000
307 2I2+0| ™ 500,000 434,400 65,600
& 150,000
Al 350,000
02 I B AAEE X 500,000 434,400 65,600
OXNSAAL Al&2el =X
10,000 *100, 0004 Kt*50% 500,000
= 150,000
Al 350,000
(&) A MAR ST AIG 22l 26,496 25,856 640
& 6,624
Al 19,872
307 2I2+0| ™ 26,496 25,856 640
& 6,624
Al 19,872
02 LB AAIHEE 26,496 25,856 640
Ouatdat FSAJA 22idl X3
16,560, 0002 24 2+80% 26,4%
= 6,624
Al 19,872
(2) BN BIRFALS 900,000 0 900,000
J 450,000
= 135,000
Al 315,000




SN HEZsYD
B F0IE2 N (SN YL/ 5 - 55)
P ArsHB WS ) (CHol: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
407 DIIArE 01 900,000 0 900,000
] 450,000
= 135,000
A 315,000
02 QIRIXFEAIEE (01X THR) 900,000 0 900,000
OB BPEARS
1,500,000,0002 %60/ 100 900,000
] 450,000
= 135,000
A 315,000
(2 BAESHUSA ST A 1,842,500 790,000 7,062,500
] 1,474,000
= 110,550
A 257,950
403 MRIEHHSAH=01d 1,842,500 790,000 1,052,500
] 1,474,000
= 110,550
A 257,950
02 SI12S0CHE A= E 2 S A 1,842,500 790,000 1,052,500
ODIAHSBACHT I BIEEL AR
1,842,500, 00021 A 1,842,500
Il 1,474,000
= 110,550
A 257,950
|Et ez B 25t 266,250 251,600 14,650
JIEH AlF e M A 266,250 251,600 14,650
307 212t01& 144,250 0 144,250
02 IZHE A E L 144,250 0 144,250
OE IS Hld NAAL(ZES 50%)
165, 0002+ 100S+50% 8,250
O=50k2 XA (ZES 50%)
55,0002 * 1,600 A*50% 44,000
Ot DOIDK NFAL(BES 500)
600, 0002 140nax50% 42,000
OB+ EMIE NS (BES 50%)
6.0002+10, 000H<50% 30,000
Otss ZFIIT(EIXND M XIZAL(EXE 50%)
1,000, 0002 *40ha*50% 20,000
402 St +E01A 122,000 251,600 A129,600
01 QIREXEAIE 2 2 (REHITHR ) 122,000 251,600 129,600
OEE MADIBHHIIIY, 22A4) XA
(2x= 50%) 104,000,000 *1.5ha*50% 78,000
O= 20t MADIBHSMATIFE, BLAIE) TR A
(BEE 50)
16,000, 000& *5.5ha*50% 44,000




ord
K]
OH
[l

-

KIo

Hlw

133,493

6,499

840,000
840,000

6,499

dEE
Ofl &b oK

3,484,339

950,739
853,800
13,800
13,800

34,000
34,000
34,000

59,939
8,389
8,389

3,350,846

i

75,000
87,641
463,406

2,724,799
13,800

957,238
853,800
13,800
7,400
2,500
4,900
5,420

Il
Al

980

1,990
3,430
840,000

840,000
100,000

50,000
110,000
200,000
380,000

34,000

34,000

34,000

10,800

14,400
4,000
4,800
4,800

66,438
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[und
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=

200,000,000

199,000 %10

70,0003 498t A

250,000& %10
|2| E4HHHI

100,000& 498t A
20,0003 #4902 A
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o] SRS X

2]
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el A HEX

O

307 212t01&

50%)
100,000, 000 * 141%50%

o
Ki
iy

KERH KIS (

[
[=]

A

el
20

<0
oJ

b

H

3

141%50%
141%50%

2
x

760,000, 0003 * 141%50%
CIHUAIEZ,
900,000& 123

220,000,000
400,000,000

(2

2|

=

(H1R32,

ot s A Al

¢

ar

RO

il

A2

.

=)
70

OLEDHE

=l

1,200,000+ 128
2,000,000&#2
4,800,000& 14

OAZEHIs X

30
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"

0J
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o
D

J
0

A501
A501

7,888
7,888

04 JIZtH22 XS 2E=+

101 2244




2A: FEHFsdn
HI: SRS MAD|B ZM(SHSSN/ 5L - 5E)
el Solely JUH Ast (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OZDIQA=HDZE Sat2e] o8
78,880 x4 H*252 %13 7,888
201 LB 2,950 2,950 0
01 AF222IHI 2,950 2,950
OZADIZME ERQE RIS BAHIRY
100,000 % 12 1,200
OQIA=HIA THHRA 22 S50 JI=
70,0002 %254 1,750
206 XHEH] 49,000 42,000 7,000
01 XH2H] 49,000 42,000 7,000
IFAl SHIIBE BRUS AEH HE
12,000,000 * 14! 12,000
OZEJ(QIASH 2AHZEA L Z0IEH0| MIA
12,000,000 * 14! 12,000
OZEJIQIASH AT} HIZEE R
25,000,000 * 14! 25,000
301 YB3 6,600 6,600
11 BAFAHIXIRZ 1,600 1,600
OSAICH 319HF Y WEEAASX S4H|
8,000 *20*103] 1,600
14 J|EtR A S 5,000 5,000 0
OZ4 IHEME ZEZQZ A
200,0002%257H A 5,000
DeHRIA AIZE o5 29 3,000 3,000 0
308 XXIEHHIS0I™ 3,000 3,000
07 REXISHHIZIRE 2 3,000 3,000
ORI A= AFZLES 2E2
,000,0004%14! 3,000
SEES MaH 2,393,608 2,533,600 A 139,992
= 75,000
7l 87,641
[ 463,406
Al 1,767,561
(2)SEXS(CIA)MAAI LS USRI 144,540 298,500 153,960
7l 57,816
[ 26,017
Al 60,707
402 QIZERF=0|H 144,540 298,500 A 153,960
7l 57,816
[ 26,017
Al 60,707
02 QIZFRF2 A2 AR (0| M THS) 144,540 298,500 A 153,960
OS2E2(014&) MAAIE BITHEIXIY
289,080, 0002 * 1AI*50% 144,540
7l 57,816




SN HEESAD
M SSE=2 MAD|EE T (s sY - s8)
ol SEHAE dut (CH: ®2l)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
= 26,017
Al 60,707
(D)sdSMASHRIA 846,667 935,333 /88,666
= 254,000
Al 592,667
402 QI2EXHE201 A 846,667 935,333 /88,666
& 254,000
Al 592,667
02 QIZENEAMLE R (01X M) 846,667 935,333 88,666
OMorael SHTIR
25,400, 000 * 1 A1%50% 12,700
= 3,810
Al 8,890
Oolatatd s4&XIA
1,667,934, 0003 * 141 x50% 833,967
& 250,190
Al 583,777
NESsd=s §4 147,000 132,500 14,500
307 SI2t01 & 147,000 0 147,000
02 CIZHEAAIRIE X 147,000 0 147,000
Oz MAsIt sXH X(BEXE 50%)
80,000,000 * 1A %50% 40,000
OSEAZXSE JISdla s XA (EXS 50%)
7,000,000 *10ha*50% 35,000
OLErRIHAXSE SXHH XA (HAK) (X8
50%) 50091 %94, 000kg*50% 23,500
SgASaSE ELNH X2 (BXE 50%)
15,000, 0002 * 14} 15,000
OLx&Z4 MetAsAM KA (XS 50%)
350, 000& *20IH*50% 3,500
OAWSE=I =838 XA(BEE2 50%)
200,000 & *300T*50%& 30,000
(2L SSSEINSLERS 135,000 0 135,000
= 75,000
& 18,000
Al 42,000
402 QIZERHE01A 135,000 0 135,000
= 75,000
= 18,000
Al 42,000
02 QIZENEAMLE X (0IX ) 135,000 0 135,000
OLEXHE2ZsZZM 4R
150,000, 0003 * 141%90% 135,000
= 75,000
= 18,000




SN D=
B SHAS MDY ZH(SPHYL/ 5 - 5E)
ol SEHAE dut (cro): =2l
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| A 42,000
() AFHOIETHEHAIE X2 37,500 100,000 62,500
| 15,000
= 6.750
A 15,750
402 22RO A 37,500 100,000 262,500
| 15,000
= 6.750
Al 15,750
02 SI2 A= AT 2 (O & T R) 37,500 100,000 262,500
ODZEBIHE THHAILRIR
25,00021+3,000 *50% 37,500
| 15,000
= 6.750
Al 15,750
(©)ASN=S8AD 472,666 636,667 A164,001
< 141,800
A 330,866
402 SI2IRHE01 A 472,666 636,667 A164,001
< 141,800
A 330,866
02 SI2 = AT 2 E (OIEMHR) 472,666 636,667 A164,001
ORUASXS SLXI
878,666, 00021+ 1A1%50% 439,333
= 31,800
Al 307,533
ORI&kA, LTS SLTR
66,666, 00024+ 1A1%50% 33,333
< 10,000
A 23,333
(©) SN S HER 2N 36,000 22,000 14,000
= 0,800
Al 25,200
402 S0 A 36.000 22,000 14,000
= 0,800
Al 25,200
02 SI2F A= AT 2 E (01 ETH ) 36,000 22,000 14,000
OstslarAlE 232 D
72,000, 00024+ 1A150% 36,000
< 0,800
A 25,200
xS =4 539,280 408,600 130,680
307 SI2H0IA 539,280 0 539,280
EIFIEFONCTES 539,280 0 539,280




S Fss
. SHHS MDD TH(sENEHHsY - &)
&Pl EgtAE Mot (Crel: & 2l)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OR0IE JE B2 NS (Z2E 508
360,000, 0002 * 141 x50% 180,000
OMARE 2HT BZ XA (LES 50)
100,000 *1, 3002 *50% 65,000
OLXIMARSE ST KB (2XS 50)
220,000, 0003 *141x50% 110,000
OMARSYL ZAMNY| ST XIS (BES 508)
2,500, 000& *8ha*50% 10,000
O4erR2ur ZHHE| SIT KR(SXS 500)
2,500,000 & * 10ha*50% 12,500
ONSBIRA HBFEHML SITH X (STE 50%)
14,000, 0003 * 141 *50% 7,000
O - = WBE MHth X (SES 70%)
2,600, 000& *4ha*70% 7,280
ODF=ME=IH sAH XI&A(2X8 50%)
3,000,000 & *50ha*50% 75,000
O==8F HX| MU=t s XI(EE2 50%)
6,000,000 & * 10ha*50% 30,000
Oti=Mol=It sXHH XI&A(2X8 50%)
85,000,000 * 1A %50% 42,500
(D)SEXS(HA, LSEHS)MAAILS USRI 19,500 19,500
| 7,800
= 3,510
Al 8,190
402 CIZERHE0|A 19,500 19,500
| 7,800
= 3,510
Al 8,190
02 CIZEXI= AL B (0| M THS) 19,500 19,500
OSSEE(HA S)AZSUsRI
39,000,000 *1A1%50% 19,500
| 7,800
& 3,510
Al 8,190
(DAL Z20HCTESSEEAXIR 15,455 15,455
| 7,025
& 2,529
Al 5,901
402 QIZERHE0| A 15,455 15,455
| 7,025
& 2,529
Al 5,901
02 QIZENEAMLE R (01X M) 15,455 15,455
OADIEE ICTESSEEAH(MIUXIEZAIL) X
28,100, 000 1 A1 +55% 15,455
| 7,025




SA: ASF s
HI: SRS MAD|B ZM(SHSSN/ 5L - 5E)
ol SEHAE dut (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
= 2,529
Al 5,901
MM SAAH|(REH =AU (JIEHIIEH 94,142 95,302 1,160
=23 94,142 95,302 AT1,160
J|1=3| 94,142 95,302 AT1,160
201 LB A 25,982 24,382 1,600
01 AFR2t2IHI 25,982 24,382 1,600
OSALEX FHI(A4)
20,0002 %168 A 128 3,840
OE20HAH| 8,000 *x7Alx 16 x 122 10,752
Ogbte2g 100,000 * 122 1,200
OAA2 TAZLLI 50,000 %122 600
OARL 24 7,670
—=SAD| 2l(AE) 500,000 *1CH 500
—I2IE g 100, 000 *5CH*50% 250
—=S A EY 200,000 %53+ 1CH 1,000
—ZRIEDI(EY) EH
200,000 %53 *5H 5,000
—PC==cl 100,000 16CH*20% 320
—J|Etelt] 50,0002+ 12 600
OJIEF AFR22IH 10,0002 %162+ 122 1,920
202 OiH| 63,360 67,320 3,960
01 2LH0IH 63,360 67,320 3,960
OIS P=AY ALEZX 0| 63,360
—2HLH0AH 20,0002 %16 * 12« 12& 46,080
— 29| 04H| 120,000 * 162 *92! 17,280
203 2= 3,600 3,600
04 ENSHADREAIY 3,600 3,600 0
ORMNSIAREXH|(ZEH =)
300,000+ 12 3,600
204 XPAHAH| 1,200 0 1,200
01 ISP LHAY| 1,200 1,200
ORI IARABHAH| (R S S IE)
100,000 % 12122 1,200




